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Ligatures with @ P (tsa)   as first consonant in a stack    

Often the consonant  is just reduced in graph:     r 
For the following examples: 7 @ (tstsa)       = 8 @  (tstsa)     and  9 `  (tstsha)     or  : ` (tstsha)        = ;  ` (tstsha)      

                                                                 F  0 (tstshya)         or  H 0  (tstshya)         = G 0 (tstshya)          

                                                                              @ P (tstshva)          =  A  P  (tstshva)             and    > @   (tstshra)          = ? @ (tstshra)          
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